Table of Basic Invariants
16 < N <25

N e m g To T1 S11 Too Loo 6Se Coo
16 1 1536 16 &8 8 4 10 14 21 -4
16 3 1536 16 8 8 4 10 24 3 —4
16 5 1536 16 8 8 4 10 30 -3 —4
16 7 1536 16 8 8 4 10 60 —-21 —4
17 1 2448 17 &8 6 3 8 45 0 —4
17 3 2448 17 8 6 3 8 30 0 —4
18 1 1944 18 12 9 9 13 25 12 —6
18 5 1944 18 12 9 0 13 52 -—-12 -6
19 1 3420 19 10 6 3 9 41 3 -5
19 2 3420 19 10 6 3 9 48 -3 -5
20 1 2880 20 8 12 6 16 38 18 —4
20 3 2880 20 8 12 6 16 36 6 —4
20 11 2880 20 8 12 6 16 78 —18 —4
20 13 2880 20 8 12 6 16 48 -6 —4
21 1 4032 21 16 6 6 18 34 28 -8
21 2 4032 21 16 6 0O 18 36 20 -8
21 5 4032 21 16 6 0 18 96 —28 -8
21 10 4032 21 16 6 6 18 78 —20 -8
22 1 390 22 12 12 6 15 33 18 —6
22 7 390 22 12 12 6 15 72 —-18 -6
23 1 6072 23 12 8 4 11 31 27 -6
23 5 6072 23 12 8 4 11 88 27 —6
24 1 4608 24 16 12 12 20 20 68 -8
24 5 4608 24 16 12 0 20 48 4 -8
24 7 4608 24 16 12 12 20 60 —4 -8
24 11 4608 24 16 12 0 20 80 —-20 -8
24 13 4608 24 16 12 12 20 36 20 -8
24 17 4608 24 16 12 0 20 52 4 -8
24 19 4608 24 16 12 12 20 56 —4 -8
24 23 4608 24 16 12 0 20 168 —-68 -8
25 1 7500 25 10 10 5 18 81 0 -5
25 2 7500 25 10 10 5 18 T4 0 -5

Note: All the other invariants can be derived from the above invariants via the following formulae:

go = (9+1)/2—ro/4

g = ((g+2)—r1)/3

goo = (9—=1)/N+1—=7rs/2+m/(2%N?)—¢(N)/4
h = 2(9—90— 91— 9goo)
L = rg+2r —s11+Ls
S = (2311 —T1)/18+Soo
pg = h/4-S

'Y = 2+4+h/24+2S+L
bo = 2+h+L

sgn = —4S—-L

C2 = Xtop = 4+h+L

K? = 8+2h—-L-12S
Cco — —7'0/2
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—(27‘1 - 811)/3
£ = min(2,p, — 1)



